4 www.4most.co.uk

Zubehér Serie 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 M’I 2
Accessories 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 Series

Schutzkappe fiir Kabelstecker, IP67 Schutzkappe fiir Flanschstecker, IP67

Protection cap for male cable connector, IP67 Protection cap for male panel mount connector, IP67

Abbildung / Figure

MaRBzeichnung / Drawing

70

g3
155

211
020
Bestell-Daten / Order Data
Bestell-Nr. Bestell-Nr.
Ordering-No. Ordering-No.
08 2424010 000 08 2615 000 000
Schutzkappe fiir Flanschstecker, IP67 Schutzkappe fiir Flanschstecker, IP67, Frontmontage
Protection cap for male panel mount connector, IP67 Protection cap for male panel mount connector, IP67, front fastened
Abbildung / Figure
MaBzeichnung / Drawing
60
il '
= W2x 1

Bestell-Daten / Order Data

Bestell-Nr. MaBA Bestell-Nr.
Ordering-No. Measure A Ordering-No.

1 mm 08 2989 000 000
08 2676 000 000

14,5mm 08 2990 000 000

For further details and order enquiries please contact 4Most: +44 (0) 1371811171 sales@4most.co.uk



4 www.4most.co.uk

Zubehor Serie 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 M1 2
Accessories 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 Series

Schutzkappe fiir Kabeldose, IP67 Schutzkappe fiir Flanschdose, IP67
Protection cap for female cable connector, IP67 Protection cap for female panel mount connector, IP67

Abbildung / Figure

MaBzeichnung / Drawing

~ 125 ‘ 70
- (I
2 ik
M2x1 :
920
Bestell-Daten / Order Data
Bestell-Nr. Bestell-Nr.
Ordering-No. Ordering-No.
082425010000 082616 000 000
Schutzkappe fiir Flanschdose, IP67 Schutzkappe fiir Flanschdose, IP67, Frontmontage
Protection cap for female panel mount connector, IP67 Protection cap for female panel mount connector, IP67, front fastened
Abbildung / Figure
MaBzeichnung / Drawing
60
1

g;
o } | [mzx
= 020

Bestell-Daten / Order Data

Bestell-Nr. Bestell-Nr.
Ordering-No. Ordering-No.
08 2677 000 000 082991000 000

For further details and order enquiries please contact 4Most: +44 (0) 1371811171 sales@4most.co.uk



L most|

Zubehor Serie 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866
Accessories 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 Series

www.4most.co.uk

M12

Schutzkappe fiir Dose, IP67
Protection cap for female connector, IP67

Blindverschraubung PG 9/M16x 1,5
Dummy plug PG 9/M16 x 1,5

Abbildung / Figure

N

MaRBzeichnung / Drawing

218
[

- A B C
2 = T = PG 9 020 | SW 18mm
- e M16x1,5 1@ 21 [SW 19mm
SW13,4mm A
C B
Bestell-Daten / Order Data
Bestell-Nr. Gewinde Bestell-Nr.
Ordering-No. Thread Ordering-No.
B A-Kodierung/Coding
Pa9 083128000 000 M B-, D-Kodierung/Coding
08 2769 000 000
B A-Kodierung/Coding
M16x1,5 08 3129000 000 B B-,D-/X-, S, T-Kodierung/Coding
Sechskantmutter fiir Befestigungsgewinde Ringmutter fiir Befestigungsgewinde
Hexagonal nut for fixing thread Ring nut for fixing thread
Abbildung / Figure
MaBzeichnung / Drawing
Gewinde B | Schlusselweite A
Thread B | Wrench size A
P69 | WiBmm 7 TN
= PG 11 SW21 mm ™
N\ P6135 | SWZ3mm W
MI6x1,5 | SW19 mm
B M20x1,5 | SW24 mm A
Bestell-Daten / Order Data
Gewinde B Schliisselweite A Bestell-Nr. Gewinde A Durchmesser B Bestell-Nr.
Thread B Wrench size A Ordering-No. Thread A Diameter B Ordering-No.
PG9 SW18 mm 160402 001 M A- M B-, D-/X-Kodierung/Coding PG9 18mm 015322001
PG 11 SW21 mm 16 0403 001 M A- W B-, D-/X-Kodierung/Coding
PG 13,5 SW23 mm 16 0401001 M A W B-, D-/X-Kodierung/Coding M12x1 14mm 015325001
M16x1,5 SW19mm 160916 001 M A- M B-,D-/X-, S-, T-Kodierung/Coding
M20x1,5 SW24 mm 160917001 WA B8, 0/, Modieung/Coding M16x1,5 18mm 015244001
For further details and order enquiries please contact 4Most: +44 (0) 1371811171 sales@4most.co.uk



4m www.4most.co.uk

Zubehor Serie 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 M1 2
Accessories 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 Series

Schirmblech fiir Flanschsteckverbinder, von hinten verschraubbar Flachdichtung fiir Befestigungsgewinde PG 9/M16 x 1,5
Shielding sheet for panel mount connectors, fastened from back side Flat sealing for fixing thread PG 9/M16 x 1,5

Abbildung / Figure

MaRzeichnung / Drawing

g19

[

=

48
g131
n
N

I ‘
15
=
Bestell-Daten / Order Data
Gewinde MaBA Bestell-Nr. Bestell-Nr.
Thread Measure A Ordering-No. Ordering-No.
PG9 15,3 mm 040734124 M AKodierung/Coding

M B-, D-/X-Kodierung/Coding

161125071

e
M16x1,5 16,1 mm 4073124 m ot o aing

Montageschliissel fiir Ringmutter
Mounting spanner for ring nut

15 45
1 Gewinde/thread | A
=| |o——A—— PG 9/M16x1,5 | 23
. M12x1 19
Gewinde A Bestell-Nr.
Thread A Ordering-No.

PG9I/M16X 1,5 070084 000

M12x1 070083 000

For further details and order enquiries please contact 4Most: +44 (0) 1371811171 sales@4most.co.uk



4m www.4most.co.uk

Zubehor Serie 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 M1 2
Accessories 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 Series

Hiilse gegen versehentliches Trennen unter Last Schlauchverschraubung
Sleeve against inadvertant unmating under load Screwing for tube

Abbildung / Figure

MaBzeichnung / Drawing

295
135 12
8,5
e = = ;
= ¥

Bestell-Daten / Order Data

Bestell-Nr. Bestell-Nr.

Ordering-No. Ordering-No.

160977 000 020273 000
Dichtung fiir Kunststoff-Vierkantflanschstecker, Dichtung fiir Metall-Vierkantflanschstecker,
Sealing for square flange, plastic version Sealing for square flange, metal version

Abbildung / Figure

MaBzeichnung / Drawing
7 &
)
IR 1
)
3% 4 AR
5 o4 1
15
Bestell-Daten / Order Data
Bestell-Nr. Bestell-Nr.
Ordering-No. Ordering-No.
16 8091 000 160959 000

For further details and order enquiries please contact 4Most: +44 (0) 1371811171 sales@4most.co.uk



4 www.4most.co.uk

Zubehor Serie 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 M1 2
Accessories 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 Series

Leiterplatte mit einer LED gelb, zum Einbau in Kabelsteckverbinder, Schraubklemm Leiterplatte mit einer LED griin/gelb, zum Einbau in Kabelsteckverbinder, Schraubklemm

PCB with one LED yellow, for cable connectors, screw termination PCB with two LEDs green/yellow, for cable connectors, screw termination

Abbildung / Figure

MaBzeichnung / Drawing

baun/b 24Q
2kQ raun/orown
t/red
Tot/re e grin
blow/bloe s yellow schwarz/black s groen
blau/blue
Bestell-Daten / Order Data
Bestell-Nr. Bestell-Nr.
Ordering-No. Ordering-No.
08 0472 000 000 08 0462 000 000
Schliissel mit Drehmomentbegrenzung Sechskant SW 13, 0,6 Nm Schliissel mit Drehmomentbegrenzung, Sechskant SW 18, 0,6 Nm
Hexagon torque spanner SW 13, 0,6 Nm Hexagon torque spanner SW 18, 0,6 Nm

Abbildung / Figure

MaBzeichnung / Drawing

SW 13mm
~12 7 ~1205

@%
8= e B p—

Bestell-Daten / Order Data

Bestell-Nr. Bestell-Nr.
Ordering-No. Ordering-No.
07 0086 000 070079 000

For further details and order enquiries please contact 4Most: +44 (0) 1371811171 sales@4most.co.uk



" most!

Zubehor Serie 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866
Accessories 713 - 763, 715 - 766, 825 - 876, 814, 813, 815 - 866 Series

www.4most.co.uk

M12

Montageschliissel zur Montage von M12 Verriegelungsring Stiftkontakt, VPE=100 Stiick
Mounting tool for M12 locking ring Male contact, PU=100 pieces

Abbildung / Figure Abbildung / Figure

Bestell-Daten / Order Data Bestell-Daten / Order Data
Bestell-Nr. Fiir Leiterquerschnitt | AWG Bestell-Nr.
Ordering-No. For wire gauge AWG Ordering-No.
070078 000 0,34-0,5mm? 20-22 611154 146
Crimpzange fiir gedrehte Crimpkontakte Losewerkzeug fiir Kontakte
Crimping tool for turned crimp contacts Extraction tool for contacts
Abbildung / Figure Abbildung / Figure
i‘_ -
&
Bestell-Daten / Order Data Bestell-Daten / Order Data
Bestell-Nr. Bestell-Nr.
Ordering-No. Ordering-No.
660003 001 660004001

For further details and order enquiries please contact 4Most: +44 (0) 1371811171

sales@4most.co.uk



